Problem No-6

The following was the Balance Sheet of X as at 31st December, 1990—

	Liabilities
	Tk
	Assets
	Tk

	Sundry Creditors

Mrs. Rahim’s Loan

Babu’s fund

Capital:

Rahim’s capital

Babu’s capital
	40,000

10,000

15,000

7,000

10,000

8,000
	Cash at bank

Stock in trade

Sundry debtors   20000

(-) provision         1000

Furniture & fittings

Machinery & Plant 

Investments

Profits & Loss Account
	13,000

6,000

19,000

4,000

28,000

10,000

10,000

	
	90,000

=========
	
	90,000

=======


The firm was dissolved on 31st December, 1990. the following was the result---

a) Rahim took over investment at an agreed value of tk 8000;

b) The assets realized were the following— 

Stock 


5000 

Debtors 

18500 

Fixture & Fittings 
4500 

Machinery and plant 
25000

c) The sundry creditors were paid off less 3% discount;

d) The expenses off dissolution were tk 1100.

Rahim and Babu shared profits and losses in the ratio of 3:2. Pass the journal entries to be made on the dissolution, realization account and bank account.
Solution No-6:

Here it is given that,

Rahim and Babu are the two partners. They share their profit and loss in ratio 3:2

Journal

	Date
	Particulars
	R.f.
	Debit
	Creditor

	
	Realization a/c

     Stock-in-trade a/c

     Sundry Debtor a/c 

     Furniture and Fitting a/c

     Machinery a/c

     Investment a/c
	
	67,000

40,000

10,000

7,000

6,000

4,000

8,000

15,000

15,000

48,800

1,100

3,540

2,360

3,340

4,440
	6,000

19,000

4,000

28,000

10,000

50,000

4,200

2,800

10,000

8,000

15,000

15,000

48,800

1,100

5,900

3,340

4,440

	
	Sundry creditors a/c

Mrs. Rahim’s loan a/c

     Realization a/c
	
	
	

	
	Reserve fund a/c

     Rahim’s capital a/c

     Babu’s capital a/c
	
	
	

	
	Rahim’s capital a/c

Babu’s capital a/c

     Profit and Loss a/c
	
	
	

	
	Rahim’s capital a/c

     Realization a/c
	
	
	

	
	Cash a/c

    Realization a/c
	
	
	

	
	Babu’s loan a/c

     Realization a/c
	
	
	

	
	Realization a/c

     Cash a/c
	
	
	

	
	Realization a/c

    Cash a/c
	
	
	

	
	Rahim’s capital a/c

Babu’s capital a/c

    Realization a/c
	
	
	

	
	Cash a/c

    Rahim’s capital a/c
	
	
	

	
	Babu’s capital a/c

     Cash a/c
	
	
	


Realization Account

	Particulars
	Tk
	Particulars
	Tk

	To, Stock-in-trade a/c

To, Sundry Debtor a/c 

To, Furniture and Fitting a/c

To, Machinery a/c

To, Investment a/c

To, Cash a/c

To, Cash a/c
	6,000

19,000

4,000

28,000

10,000

48,800

1,100
	By, Sundry creditors a/c

By, Rahim’s loan a/c

By, Rahim’s capital a/c

By, Cash a/c

Loss on realization:

Rahim’s capital: 3540

Babu’s capital: 2360
	40,000

10,000

8,000

53,000

5,900

	
	1,16,900

======
	
	1,16,900

======


Partners Capital Account
	Particulars
	Rahim 
	Babu 
	Particulars
	Rahim 
	Babu 

	To, Profit and Loss 
To, Realization 

To, Realization 

To, Cash a/c
	6,000

8,000

3,540
	4,000

2,360

4,440


	By, Balance b/d

By, Reserve fund 

By, Cash a/c
	10,000

4,200

3,340
	8,000

2,800

	
	17,540

=====
	10,800

=====
	
	17,540

=====
	10,800

=====


Cash Account

	Particulars
	Tk
	Particulars
	Tk

	To, Balance b/d

To, Realization a/c

To, Rahim’s capital a/c
	13,000

53,000

3,340
	By, Babu’s loan a/c

By, Realization a/c

By, Realization a/c

By, Babu’s capital a/c
	15,000

48,800

1,100

4,440

	
	69,340

======
	
	69,340

=====


